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Note: - You have four choices for each objective type question as A,B,C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark,

SECTION-A (i.»o

Q.1 Questions /=1y A B C D
1 -z‘;.(}n/.l/,d/:b/;l Led LT vy Lile
, Average revenue is equal to: Price Income Supply Cost
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> The other name of law of constant retum is: increlfs\?’ n%fcost decr!ehggr?gf cost conls:?::\? f:ost va rigal;’{eo;ost
4 -ﬁ:.l?ﬂi%f(b’:ﬁ/bbg,ﬁﬁ&d’bﬁf d" = Yl 2145y
Under increasing return, the slope of the curve of marginal product is: Negative Positive Zero Infinite
5 -%L"ML)‘KJ/WLAIJ(}JI»/I?I u!?udt) f—g" dﬁ—-J_l u’.?(yéf
Under monopoly, average cost curve is: Negative slope U shaped L. shaped No shape
6. , 5‘7'""’*’)("/(’1’)‘5""% PxQ PXAC ACXQ €/ Q
The method of calculating total revenue is:
2 ~<"_H.ol,‘fc.f‘ét‘fr(é:i_L(&»{fﬁ,-a?ul{&» 9] = e (%;
The wealth used in production of further wealth is called: Land Labour Capital Entrepreneur
8. -‘at“lolf:(g}/ d.yj)éa@l]'l/;ldr"u)( 6] ulﬁ" Jj%q‘/w J/W/.’.".’.'
The difference between total revenue and total expenditure is called: Profit Loss Cost of production| Variable cost
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The shape of indifference curve is: Convex Concave Vertical Horizonta!
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Questions /=11y A B C D
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_ ' |The demand of basic necessities is: More e[astic Less elastic Infinite elastic | Zero elastic
’ AL n LIS & Ji L/ Sl
= The economic faws are: Exact Permanent Copditional Quantitative
G e eSS Al Ao Pl
- Direct satisfaction providing goods are: ' Free goods Inferior goods | Consumer goods | Capital goods
i et 48 o o g » watl
- On saturation point, marginal utility is: Positive Negative Zero Infinite
14 -‘Lyc_»’(/;KJG:?JJJ il u')‘;" /V , )ijf.U
"|The relation of speculative demand for money with interest is: Direct Inver§e Zero Infinite
e JEQ=10-2P | f & A Va
= Q = 10—2P, the function is: Increasing Decreasing Impligit Inverse
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"[if income elasticity is negative then the commodity is: Superior Inferior Giffen Perishable
WK Laey Lo Lk i
M Liquidity Preference Theory was presented by. Adam Smith Ricardo Pigou Keynes
~§_t'muube1J oA 4l L0l 4:»3 oy
- The supply of goods depends on: Utility Willingness Price Output
19 —+3nwuf YN Vo s Yl -:w'
" |Daily market supply curve is: Variable Fixed Zero Positive
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Note: Section B is compulsory. Attempt any THREE questions from Section C. -&T..-,l,méomrwf a,éf ERV P HI TN

) SECTION-B /».»
2.  Wirite short answers to any EIGHT parts. (8x2=16)

Ei ez L and e $ 2

i. What is meant by economic problem? fe it Y P2
I! Define Micro Economics. e Pleltbiz i
iil. What are economic laws? Cel e Goo i
iv. Differentiate between science and art. ZoGRESaF v
. What is meant by utility? Sed e nll v
vi. What is wealth? L Ly i

vii. Whatis meant by marginal utility? et et vid
viii. Whatis meant by variables? Sesl P et 2 vidi
ix. What are two conditions of demand? e SUs L L b ix
X. Define Law of Demand. s U N x
xi. What is meant by derived demand? sl /Lfa_._fu”ji’t xi
xii. Write down the definition of complementary demand. Ay A i
3. Write short answers to any EIGHT parts. (8x2=16) E e LSl 3

i. What is the difference between supply and stock? : S O/ e Bisstars i
iil. Write down four assumptions of the Law of Supply. -2;‘{4 /" oy e L ar s 96 i
iii. What is meant by functional equation of supply? (T ya's a_,.:,f,{/d‘ Gl i
iv. Define fixed supply. By P wse iy
v. Explain “equilibrium quantity”. \O Y2y YR
vi. Explain short run/short period price. Fesbs§ed S S o i

vii. What is meant by “land”? Sel el il
viii. Define capital. S A viii
(Continued/PTO0) (130 < S0

\=)
ix. Writa down four characteristics of labour. _é’f_vyf" Ag‘f =¥ ix

% Déﬁne a Joint Stock Company. YN 6{ AT x
xi. What is meant by small scale production? Sed e A xi
xil. Define Marginal Product. Ly xii

4. Write short answers to any NINE parts. (9x2=18) 7 etz L izl iedd 4

i. Explain the concept of cost of production. -"4{ uy.rxf” Kfug,_;‘;w i
ii. Write down the formula of average cost. 2 i A b i
iii. Draw a graph of curve of total revenue under perfect competition. e b Sl f e L i
iv. What is meant by total revenue? S e v

v. Enlist four assumptions of perfect competition. -Ja}b;ﬁ/gé,wd"{ v
vi. What is meant by super normal profit of a firm? Sl p e Bl aiule) i
vii. Write down the kinds of market according to time period. _a’f(u“ e d,tm)'r e L Dy p Vil

viii. Define monopoly. e Ky vii

ix. Define real wage. Ay flenF ix

X. Write down four assumptions of marginal productivity theory. e :ab:/‘/igé:dﬂ:’&ﬁz}"j X
xi. Define rent. Zw b
xii. Write down the concept of minimum wage. -439(,# sfiez xii

xiii. What is meant by marginal cost of labour? Sl i e i f"&ci xiii

Attempt any THREE questions, carying 10 marks each. SECTION-C (».»

A 10 Ly g febz Lt d e 8F

5. Explain the law of diminishing marginal utility with the help of schedule and diagram. -éyu,érl}? PP frad Pl 5
6. What is meant by Elasticity of Demand and how is it measured? eSSV J"g,‘f;?.f_;: e gl -6
7. Explain extension and contraction of demandwith the-help of schedule and diagram. «:._»ru?” B ots2o .g/;,wu;d’ 51}%61&{ Lt

-8

8. Explain revenue curves under monopoly with the help of diagram.
9. Define interest and write down its types.
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